Part 1: Sklp this part if you have passed part 1.
Otherwise you must pass it for part 2 to be graded.

1. Find f'(z) if f(z) =5 (2° — cosz + \/5)10

N

N

. Evaluate lim

. Evaluate lim

. Find d_y ify =
dx

cos(3z)
=0 3x 4+ 6

h—0

Had — et

T+Inx

3(x + h)3 — 323

N . 2 5
. Compute the derivative with respect to : 5t° — — + n + sin (E)

Name:

4.

. Write the equation of the line tangent to y = Inz + sin (%) atz = 1.

5.
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MATH 125 Final Exam

Page 1 of 8

May 13, 2015



Part 1: Sklp this part if you have passed part 1.
Otherwise you must pass it for part 2 to be graded. Name:

7. Find the z-coordinate of the point of inflection of g(z) = 423 + 182 — 9z + 5.

7.
8. What is the largest interval on which f(z) is increasing if f(z) = —22% — 1222 4 72z + 100?

8.
2
1point| 9. Find P'(4) if P(x) = (3\/5 — cot (%)) (% - 1),
9.
10. Compute F'(t) if F(t) = e + €'%.
10.

1 point| 11. Find the z-coordinate of the local minimum of 82% — 622 — 12x + 5. If there is none, write
“None”.

11.

cos(10x)

1 point| 12. Compute the derivative of — arcsin(10x).

12.
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